[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— T —

@ a 4 R :

U S IR R A s

o o : : .

SR 0| EEEEY EPPR PEPPPEPPRE FEREY EEPREPPS e

o o : : :

50.12F-- e Tt e
(0J5| EEEPE [PETH ERPREPPREPS AR EEPREE e

0.08f I ] T S
0.06F { EERTPRRR RS (R I  CPPERRRRS

H I

3L

Ratio
[:>]

1072 1 10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_baseline
Efficiend —— pom_v0001_R000000001__Global__mkFit_var

0.8

N C
o - : : : : :
> 0.7 Treeneeaneeeens FRREEE CECEEEEEREE FRREEREE
%) r . . . . .
z o : : : : :
& 0.6 Beeeeees EEETRET
c E : : :
[} o : : :
(8] ... L [
g OSp
o E : : :
O I S S
s
0gf b
U RS .

Ratio
S
T

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
£0.35E
0.3
£0.25
5}
0.2
0.15
0.1
0.05]

lency

Ratio

-10-8 6-4-20 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


